Epyaocio yia to onitt 10

Aocxfoesic ot TplywvoueTpixég edionoelg (B)

1. No Moete v e&lowon g sec(z) +1=0

2. Na Moete v e€lowon v/3tan(3z) = 1

3. Na Moete v e&lowon cos?(z) + cos(z) —2 =0




4. No Moete v e&lowon csc?(z) 4+ csc(z) —2 =10

5. Na Moete v e€lowon sin?(z) — + =0

6. Na Moete v e&lowon cot?(x) + cot(z) = 0




7. No Moete v eiowon 2sin®(x) + 3sin(z) +1 =0

8. No Aoete tnyv e&icwon sec? (4x) + 3sec(da) +2 =10

9. No AMoete v e&icwon 4 cos®(x) — 2v/2 cos(z) 4+ 2v/3 cos(x) — v6 = 0




10. Na Moete v e&lowon sin®(z) — 1 = 0, oto Sudotnua [—, )

11. No Moete v e&iowon cos(2z + §) = g, o7o ddotnue (—3m, 0]




